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cNO 
	IMPAIRMENT (MEDSEVI) 
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O 
	

December, 2016 
O 
MMDE-072 : CURRICULUM AND TEACHING 
STRATEGIES FOR CHILDREN WITH VISUAL 

IMPAIRMENT 

Time : 3 hours 	 Maximum Marks : 75 

Note : Part 'A' and Part 'B' are compulsory. 

PART - A 

Write short notes on any three of the following 
questions (1-5). Each question carries 5 marks. 

1. Discuss strategies for teaching Braille in brief. 	5 

2. What are plus curricular needs of visually 	5 
impaired children ? 

3. Define 'Verbalism' and mention significance of 	5 
concreteness to overcome Verbalism. 

4. What is the importance of sensory training for 	5 
children with visual impairment ? 

5. Briefly discuss the use of Information 	5 
Communication Technology (ICT) for children 
with visual impairment. 
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PART - B 
Attempt any four questions from Part - B. 
Question no. 11 is compulsory. Each question 
carries 15 marks. 

6. Discuss appropriate vocational counselling and 15 
Training Techniques for students with visual 
impairment. 

7. "Computerization in braille book production is a 15 
boon to children with visual impairment." Do 
you agree with this view ? Justify your answer 
with suitable examples. 

8. Explain different teaching methods and teaching 15 
learning materials for teaching mathematics to 
children with visual impairment. 

9. Discuss the role of various agencies involved in 15 
the rehabilitation of visually impaired children 
both at national and international level. 

10. What is parental reaction to blindness ? How can 15 
guidance programmes help visually impaired 
persons adjust better in family and community ? 

11. "Visually impaired persons acquire same 15 
information as that of sighted if they are provided 
modern reading devices." Critically evaluate this 
statement with suitable examples. 

OR 
"Kinesthesis and visualization are helpful for a 15 
visually impaired person to correlate with other 
senses." Do you agree with this view ? Justify 
your answer with suitable examples. 
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